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For a linearly elastic material,
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The maximum normal stress due to bending,

modulussection 

inertia ofmoment section  
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E = 165 GPa

(a) The maximum tensile 

(b) The compressive stresses

(c) The radius of curvature
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(Es = 29x106 psi) and (Eb = 15x106 psi)

Determine the maximum stress in the steel and brass 
when a moment of 40 kip*in is applied.
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5/8-in-diameter steel rods

E = 29x106psi for steel 

E = 3.6x106psi for concrete

Bending moment of 40 kip*in for 1-ft width

Determine the max. stress in Both
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moment elastic maximum  
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